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With reference to sound waves, consider the following

statements?

1. Like light waves, sound waves do not need a medium for
propagation.

2. In the air, its velocity increases with the increase in
temperature.

3. Sonar is a device that uses infrasonic waves.
4. Earthquakes produce ultrasonic sound waves.
‘Which of the given statements is/are incorrect?
(a) 1 only

(b) 1 and 3 only

(c) 2, 3 and 4 only

(d) 1, 3 and 4 only

With reference to Mission Prarambh, recently in the news, which

of the following statements is/are correct?

1. Vikram-S is India’s first privately-developed rocket.

2. Vikram-S is a three-stage sub-orbital launch vehicle, which
placed satellites in a geosynchronous equatorial orbit.

Select the correct answer using the code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements.

1. Earliest stone tool makers were the Australopithecus.

2. Between 100,000 and 4,5000 years ago, people in different
parts of the world learnt to domesticate certain plants and
animals.

3. The earliest clear evidence for the deliberate, planned hunting
and butchery of large mammals comes from Boxgrove in
southern England.

‘Which of the above statement(s) is/are correct.

(a) 1 and 3 Only

(b) 2 and 3 Only

(c) 1 and 2 Only

Q4.

Q5.

Q6.

(d) All of the above

Which of the following statement is/are not correct.

1. Uruk is the one of the earliest temple towns.

2. Ur was a major Sumerian rural-state located in Mesopotamia.

3. In Ur there were street drains of the kind we find in
contemporary Mohenjo-daro.

Choose the correct answer using the code below.

(a) 1 Only

(b) 1 and 2 Only

(c) 2 and 3 Only

(d) All of the above

Consider the following statements regarding the properties of

drugs:

1. Pharmacokinetics is the biological response by the body to
the drugs.

2. Pharmacodynamics is the movement of drugs through the
body.

3. ADME (absorption, distribution, metabolism and excretion)
properties of drugs, help in describing pharmacokinetics.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d1,2and 3

With reference to the comparison between green crackers and

traditional crackers, consider the following statements:

1. Green crackers cause no air pollution whereas traditional
crackers cause higher air pollution.

2. Green crackers contain no harmful chemicals whereas
traditional crackers contain harmful chemicals.

3. Green crackers contain no barium compounds.

Which of the Statements given above is/are correct?

(a) 1 only (b) 2 and 3 only

(c) 3 only (d1,2and 3
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A aaN & deof & F=faf@d wuHl R faeaR &2

1. UIRT I H dRg @fy TN GwRoT & fow A@remy 6K
3T el gid! &

2. g # dTUH F o T FHAT T Sedl ol

3. YR Teh IJUhUT & St SIRT ek I ahT IUTRT el gl

4, ehy WIged @i I 309 ded Bl

U T Syl B @ 9 91/ Ted /8 ?

(a) et 1

(b) Fhaer 1 3R 3

(c) a2, 3 3R 4

(d)ehaer 1,3 3R 4

A URY & Gerf |, g1t 8t & gurRl §, Fefafaa § 9 o an/a

%Y 9l 8/8?

1. faera-S YR o1 uger s IR R fAwfaa dahe &1

2. faepH-S Uah dF-aRur 3u-epefia ueigur 9= g, s Iuws! @t
-GHIfeleh fayadia sefm # it fara

=2 g 71 e o1 v R el IR gFI

(a) Faet 1

(b) et 2

(c) 1 3k 2 gt

(dyaar1eiRadr2

ffafad el w iR &

1. GO U TR h 3SR S5 dTel ganiiugend o

2. 100,000 & 4,5000 ¥TcT Uget, gfan o fafera et d ol A g
gef ok STHaRT Y el ST |

3. §3 WAyRAl & giaaRa, Faifed R sk ag o1 9o ggen
e ATy &feroft s & e & e gl

S | & I I1/3 e I8 8/8 |

(a) Faer 1 3R 3 (b) et 2 3R 3

(c) Faet 1 3R 2 (d) SwRterT ot

fafofea & 9 o 91/3 s a8t Tt /81

1. I%ah Uriaq dfr TR # T e §1

2. R AdterHar # fRd ga ugE gakae arfio-asg i

3. R T IY g H s 1 et ff St g7 THwRT AeTeiiest
H 3Ed g1

12 oy 7Y e o1 vl AR FEl IR I |

(a) et 1

(b) haet 1 8k 2

(c) Faer 2 3k 3

(d) IuRia goft

zanaff & 7o & IR # Fmfafea sl w R &

1. WhHichichIgATca garail & ufd IR &Y R ufafehar &1

2. GmlRISHATRNTRT SRR & ATed & Zarsil o1 de gl

3. &arsff & ADME (3rasiyor, fadzor, aamae ok Iagsi) T,
thAfehIchgA e ol gufd A & Heg oed &1

IR fw U syt F @ wiF-T1/8 ggt &/8?

(a) Faet 1

(b) haet 2 3R 3

(c) Faet 3

(d)1,23R3

7 gerat ok URuRes ueral & e gorm & def A Fmfafea

YA R AR &

1. o veral 9 i arg weuuT el gl 8 Steifdh urufRe: verat &
= a1 UGyl BT 81

2. M9 verdl & i gIfehRep I A8 gidT & STalfch URURe
yerdl § giehRes WA gl 81

3. g uerdl # IRaw difies T8l gd &1

FWR U Mg puel # @ -a1/@ ad) 2782

(a) Faet 1 (b) et 2 3R 3
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Q7.

Q8.

Q9.

Q10.

Q11.

Q12.

(c) a1 3 (d) 1,233

With reference to Manorial estate consider the following

statements.

1. Manorial was the method of land ownership in part of India
during Akbar reign.

2. Manorialism is sometimes included in the definition of
feudalism.

3. Manorialism originated in the Roman villa system of the Late
Roman Empire.

‘Which of the above statement is/are correct.

(a) 1 Only

(b) 2 and 3 Only

(c) 1 and 2 Only

(d) All of the above

With reference to the The knights of medieval Europe consider

the following states.

1. The knights of medieval Europe were meant to be the finest
fighting men of their age.

2. Knights were appointed by the king on regular salary.

3. knight served in the European feudal system.

Which of the above statement is/are correct.

(a) 2 Only

(b) 1 and 3 Only

(c) 1 and 2 Only

(d) 2 and 3 Only

With reference to medieval Europe consider the following
statements.

1. The Catholic Church had its own laws.

2. The Catholic Church was not allowed to levy taxes.

3. The Christians in Europe were guided by bishops and clerics.
Which of the above statement is/are correct.

(a) 1 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) All of the above

Consider the following statements.

1. Feudalism developed in England from the eleventh century.

2. Between fifth and the tenth centuries, land available for
agriculture was limited in Europe.

‘Which of the above statement(s) is/are correct.

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Middle age of the Europe consider the

following statements.

1. During middle age some deeply religious Christian people
chose to live isolated lives.

2. Easter in Christians marked the crucifixion of Christ and his
rising from the dead.

3. The concept of labour- rent was not related to Christianity.

Choose the correct answer using the code below.

(a) 1 Only

(b) 1 and 2 Only

(c) 2 and 3 Only

(d) All of the above

Consider the following statements.

1. Earliest University in Europe has been set up in Italian towns.

2. Cathedral was the large church built in France during twelfth
century.

3. Cathedral was built in stone.

Choose the correct answer using the code below.

(a) 1 Only

(b) 2 and 3 Only

(c) 1 and 2 Only

(d) All of the above

Q13.

Ql4.

QI5.

Ql6.

Q17.

QI8.

Which of the following were responsible factors for slow down in
Europe’s economic expansion by Early fourteenth century.

1. Effect of climate change on Agrarian.

2. Trade was hit because of shortage of metal money.

3. Shortage of labour force.

Which of the above statement is/are correct.

(a) 1 Only

(b) 2 and 3 Only

(c) 1 and 2 Only

(d) All of the above

Consider the following statements with reference to BioAsia

2023:

1. BioAsia is an annual international event focused on
promoting biodiversity conservation in Asia.

2. Major species which were in focus were reptiles and avians.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

In the context of Digital Payments Index (DPI), consider the

following statements:

1. NITI Aayog has constructed a composite DPI to capture the
extent of digitisation of payments across the country.

2. DPI comprises five broad parameters that enable
measurement of deepening and penetration of digital
payments.

3. ATMs and QR codes come in the Payment Enabler
parameter.

Which of the statements given above is/are not correct?

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Consider the following statements:

1. ‘Hydrogen for Heritage Scheme’ envisages and supports
Hydrogen as a fuel for the transportation to various
heritage/hill routes.

2. The use of Hydrogen as fuel provides larger benefits in the
direction of green transportation technology.

3. Indian Railways has decided to run more than thirty
Hydrogen trains under this scheme.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

With reference to Annual Status of Education Report 2022,

consider the following statements:

1. ASER is a rural survey, and urban areas are not covered in it.

2. Opverall enrolment figures have decreased in 2022 due to
school closures during the pandemic.

3. The proportion of children (aged 6 to 14) enrolled in
government schools increased sharply from 2018 to 2022.

4. The proportion of children in Standard I-VIII taking paid
private tuition classes increased in the last four years.

Which of the statements given above is/are correct?

(a) 1, 2 and 3 only

(b) 2, 3 and 4 only

(c) 1, 3 and 4 only

(d)1,2,3and 4

‘Project 751’ recently seen in the news, is related to which of the
following?

(a) Space Satellites

(b) Green Buildings

(c) Submarines
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10.

11.

12.

13.

(d) Vaccination drive

Io1ved & g § FRefafaa syt &R AR &R

1. 37eReR h ATHAIIA h SR HRd & g # iy @i & ugfa
miRae ot

2. TrHdarg &t eheft-apeft Irddare i aRerer & snfae far Sar @1

3. TARSThare &t Iaf wrffa I grursg & A8 fJer gomett &

g ot
IR § @ o I1/8 Y= 9l 2/
(a) dhae 1 (b) heret 2 3R 3
(c) dhaer 1 3R 2 (d) SRt gft

AHHIH JUT & RART & F<f # Frfafed saenst w far

Hifsgl

1. A T oh YRART chl Il I & AgaH dlgl AFT ST
o1l

2. RART & FAgfert T gR Fafa 3d= o St ot

3. AT8E 7 P At cae # Jar h

SWIT & G i I1/8 = T8l /81

(a) et 2

(b) shaet 1 3R 3

(c) Faet 1 3R 2

(d) haer 2 3R 3

AR T & def A Fafafea wyat iR R &R

1. heifere o & 1o S U1

2. FUifoies 9 Y R T ol SIFATT T8 ot

3. U A S48 ywfeasd SR Hiafaat grT FEfa &

SWIFT & 9 i I1/9 Y= T8l 8/

(a) cheret 1 (b) et 2 3R 3
(c) a1 3R 3 (d) I gt
fafafaa s ) AR &1

1. gicie # TRgd ATt & GrHddTE i faehr gai
2. ufedf 3R Tgel qardl & o R A FiY & forg Iuere I
i oft

ST & ¥ ol 91/9 %y T8l 8/31
(a) et 1 (b) haet 2
(c) 18R 2eHf (d) Fat1sRaE2

Y & e 1 & deof A Fmfafea sl = far &)

1. 3193 9 & IRM T TTeR ulfifen $TTE NN A STHT-UHT St
ST AT

2. 391Sal A %R 591 /I & fH W e 3R I Hadl A § St
357 T Ul B

3. F-TRTH <hY STAERUT 918 o O Haifdd =gl ot

=2 g 71 e o1 v R el IR gFI

(a) e 1 (b) Faet 1 3R 2
(c) et 2 3R 3 (d) SR gt
fAefafaa s ) AR &

1. gAY o1 GG QR fasyferermera geeft & el # wfta faar man
gl

2. SRgdl TaTedt & SR Wi § FT FRSITER s+ mam 2|

3. IRSITER R & =T T ATl

=2 g 1Y e o1 v AR @ IR A
(a) dharet 1 (b) Faer 2 3R 3
(c) dhaer 1 3R 2 (d) SuRe gaft

degdl el & galg aa U & onffe fwr § 5§ & fog
fr=fafea # @ o & Icakarl &R 9?2

1. PN R STaarg uRad= &1 g9E|

2. T HaT chl SHT dh HRUT SATUR THTRAT g3l

14.

15.

16.

17.

18.

3. o Al &

IR A @ o I1/8 hy= 9l /21
(a) Faet 1

(b) haer 2 3R 3

(c) Fhaer 1 3R 2

(d) SwRia goft

IJrATGRIAT 2023 & Hew # FEfafEd syl )R fdar &

1. ICRIAT Ue arftien Siarffia shrferd & it ofvan & Sta fafderar
TRETUT Rl F31aT & UR higd Bl

2. O v venfadt R e R mar 3 Sy ofk uaht &

IWR 3y 17 syl & @ i 91/ Tt 8/87
(a) et 1 (b) Fae 2
(c) 1 8k 2 &t (d) Fat13RaTE2

fefSiea o1 gaaries (DPI) & Tesf & fAmfafed syl o= R
Hifoa:

1. A ST A 21 R F A & fReetianor S Har ht gehe
@ forg wen guy DPI o1 fR|for fohar &1

2. DPI ¥ uig aue R M g st fSfoca samt &
TgdT 3R 05 ol ATu= & gam g1

3. ATM 3iR QR &g tHe gHger Reflex & ord §1

SR Y ¢ et # F i 91/ Tel T8 8/8?

(a) Faet 1 3R 2 (b) Fhaet 1 3R 3

(c) Faet 2 3R 3 (d) 1,293

fAfafea dul &R R

1. 'foRa & e grsgioq aiemr fafes foRa/ugrEt art w
gRagd & g S & U # grsgie & uRepedT Sk TweA
CaGikd!

2. 3o & ¥U B gISSIo ol SUAlT gRa URagT Hienfieh & fam
F 81 19 TS hedl gl

3. YR 3G 7 59 TS & d8d a9 I SUTET g18gIST ¢4 Tt
&1 thaer fopam g1

IR T U el A @ i a1/d ggt &/8?
(a) haer 1 3R 2 (b) thaer 2 3R 3
(c) Faer 1 3R 3 (d) 1,233

frer i arfifer fefd RUE 2022 & deef & PAmfafea wuel w far

Hifora:

1. ASER e ITHIoT Tdferur & ofR 39d et &5 ot i &t fasar
gl

2. HEMRI & R R &G 8 & HRUT 2022 H FHel AR &
3reps! & it 3 Bl

3. WER Tpell # AHIhd S (6 ¥ 14 a8 &I 317Y) & U d
2018 § 2022 da dsit & gfg &3 &

4, Fsd IR auf & o7 st s wemstt § e VI § s=at
& 3guTd # i &2 8

IR g T St F & e /8 agt 8/8?

(a) dhaeT 1,2 3R 3

(b) &haeT 2, 3 3R 4

(c) dhaet 1,3 3R 4

(d)1,2, 334

g 81 H @Rl A @1 "wistee 751 mfafaa 7 @ forad geifda 82
(a) sfaRer 3uug

(b) 8RR e

(c) uigst

(d) Ereprenzor Srfam
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Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Consider the following names:

1. Captain Vikram Batra

2. Major Shaitan Singh

3. Major Hoshiar Singh

4. Major Ramaswamy Parameswaran
‘Which of the above given names are the names given to the
islands of Andaman and Nicobar islands?
(a) 2, 3 and 4 only

(b) 1, 2 and 3 only

(c) 1, 3 and 4 only

(d1,2,3and 4

Consider the following statements with reference to U-WIN

portal:

1. This platform registers details of vaccination doses provided
to pregnant women in the country.

2. It will hold post-delivery information also.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Paris Club, consider the following statements:

1. The members of the Paris Club are also members of the
Organisation for Economic Co-operation and Development
(OECD).

2. Its objective is to find sustainable debt-relief solutions for
countries unable to repay their bilateral loans.

3. India is a member nation in the list of countries of Paris Club.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to Pradhan Mantri Aadi Adarsh Gram Yojana,

consider the following statements:

1. The objective of the scheme is to achieve integrated socio
economic development of selected villages through a
convergence approach.

2. It also includes improving the infrastructure of critical sectors
such as health, education, connectivity and livelihood.

3. The Ministry of Tribal Affairs is the nodal ministry to run this
scheme.

‘Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to the outcomes of the Cop 15 on Biodiversity

Convention, consider the following statements:

1. The COP15 has reached a consensus on reducing the overall
risk from pesticides and highly hazardous chemicals by at
least half by 2030.

2. The Conference agreed to a commitment to protect at least
30% of the world’s lands, oceans and coastal areas by 2030.

3. The COP15 agreed on reducing harmful subsidies also.

‘Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements with respect to Human

Skeleton:

1. The stapes are the largest bone in the human body.

2. Ligaments are connective tissue that connects two bones to
each other.

Which of the above statements is/are Correct?

(a) 1 Only

Q25.

Q26.

Q27.

Q28.

Q29.

Q30.

(b) 2 Only
(c) Both 1 and 2
(d) None of the above

Consider the following statements:

1. DNA is the hereditary material of all living organisms.

2. DNA is also found in mitochondria.

3. The translation is the process of copying the genetic
information on the RNA from one of the DNA.

‘Which of the above statements is/ are Incorrect?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) 1,2and 3

Consider the following statements:

1. Hepatitis E, Rubella, and Rabies are examples of viral
diseases.

2. Presently there is no vaccine for Rubella.

3. The Central Drugs Standard Control Organization approves
vaccines in India.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements:

1. Japanese Encephalitis is caused by mosquito bites.
2. Scurvy is caused by a deficiency of vitamin D.

3. Malaria is endemic in Central African Countries.
Which of the above statements is/are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) 1,2 and 3

Consider the following statements in the context of the

Agreement of Agriculture under WTO:

1. Green Box subsidies do not distort trade and are allowed
without limits.

2. All domestic support measures considered to distort
production and trade fall into Amber Box subsidies.

3. There are no limits on the spending of Blue Box subsidies.

Which of the statements given above is/are correct?

(a) 1 and 2 only (b) 3 only

(c) 2 and 3 only (d)1,2and 3

With reference to World Health Organization (WHO), consider

the following statements:

1. Member states of WHO approve the assessed contributions to
the organization every year at the World Health Assembly.

2. The United States of America (USA) is one of the core and
highest voluntary contributors of WHO.

3. According to WHO, almost all of the global population
breathe air that exceeds its guideline limits.

‘Which of the statements given above is/are #not correct?

(a) 1 and 2 only (b) 3 only

(c) 2 only (d) 2 and 3 only

‘Which of the following currencies do #not constitute the basket of
the Special Drawing Rights of the International Monetary Fund
(AMF)?

1. Euro

2. Chinese Renminbi

3. Australian Dollar

4. Japanese Yen

Select the correct answer using the code given below:
(a) 1 only

(b) 1 and 3 only

(c) 3 only

(d) 2 and 4 only
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19.

20.

21.

22.

23.

24,

fAafafed T R R &R
1. & Qg oo

2. OoR 9amF &

3. AoR iR s

4. AR IETETH IRAYRT
SR Ry 17 A & € B @ AW oA ok Felear g agg &
gt ol oy g A 87

(a) hawr 2, 33k 4
(b)dhaer 1, 2 3R 3

(c) dhaat 1,33k 4

(d)1, 2,33k 4

g-fom uida & Heed § FAfafea wuel o e &

1. I8 ey 331 & mofacht Afgerst ot & SR arelt EchTenzor WRIh
o faeruT &St e g1

2. 399 fecfled) & are &Y STHeRY +ff gt

IR U U el & @ i a1/a Tdl 8/8?
(a) e 1 (b) aet 2
(c) 13R2a=N (d) 7at1eRTE2

IRY e & Jeof § Fmfafad sl w R fifs:

1. aRT o9 & Tewg snfdfer TgahT ok faer e (OECD) &
e ot gl

2. T IgT U fuelta ko1 g § srwef & & forg =t
RUT-Igd FHTT @IS gl

3. URY o o 20T I Geit § HRA Yeh T I B

IR Ry U puet A T i 91/T 9l &/8?
(a) haet 1 3R 2 (b) hereT 2 3R 3
(c) dhaer 1 3R 3 (d)1,23ﬁ?3

TeEA 3fe amesf umH Fterr & deof # Efeafad syl &R fomR

HfS:

1. TSI AT e SHEROT gfeRIvT & At § wafa mal &
Qehlcpd ATHTTSIch-31Tffen farenrer et TG aheeT 81

2. 39 @Ry, e, eAfafad sk seiifae S gyt & &
gfardl e # guR &A1 off anfaa g

3. ST SRl §AT6Td §9 ST @t T Tl s S5 8

IR Ry 4 Tyt & & @ 91/8 98 &/8?

(a) thaer 1 8k 2 (b) heret 2 3R 3

(c) thaet 1 3R 3 (d)1,23R3

Sta fafayar I9es W COP 15 & uRumet & deof & fA=fafea

HYA R R &

1. COP15 2030 da dhie-erenl iR i oA el 9
G W Y HH F A SATET A TR IH FgHfd TR Igd 11
gl

2. g 2030 9 g1 A A ¥ HH 30% A, AENERI SR
TET @A chl T e Y Ufclergdr IR TgAd ga|

3. COP15 giehRes felist sl & s R+t Fgad g

IR U U Al & @ 9 a1/ Tl 8/87
(a) Shaer 1 3R 2 (b) Shaet 2 3R 3
(c) Shaer 1 3R 3 (d)1,23k3

AT chehTdl & Ga¢ # fAfaifed syl R R &

1. WU AT RR 6T 994 921 g8l 8l

2. TGy ISl Scdeh Bid ¢ Sif &l gfgdl ol Teh gEk 9 Siisd 8|
IR | T i TI/8 hud Tl 8/8?

(a) Shaet 1

(b) haret 2

(c) 1 3R 2 &t

(d) 378 @ IS off 7

25.

26.

27.

28.

29.

30.

fArafefad sy w R &

1. DNA @=ft Sifaa Sftat & demgrra amaft 81

2. DNA #rctenitzan & oft urar S 81

3. 31gae Yk DNA & RNA WR Irgafdeh SRt &t ufafafd
TR & ufhar g1

SWIeT & § hi 91/ Y= Ted &/8?

(a) 1 3R 2 haet (b) 2 3R 3 thaet

(c) 1 3R 3 &haet (d) 1,23R3

fAafafad ey R TR &

1. 20crsfed E, ®aer 3R ¥fiet araret Sl & Iergeon €1
2. gdu § Taar & g g Sepr 781 &1

3. FE el ares =0T Witee wRA & Sl Y Herdt 2T &1
IR & G oI 91/8 T Tg! 8/8?

(a) 1 3R 2 Shaet

(b) 2 3R 3 Shaet

(c) 1 3R 3 Shaet

(d) 1,23k 3

f=fefaa Fui w AR &%

1. STur S8thesfey FeeR & wiet 9 gt 8l
2. Thdl faarq S & it 9 gar 8l

3. oo gex snhicht 230 & @A g1

IR | G i 1/" I Tal 8/8?

(@) 1 3fR 2 Shaat

(b) 2 3R 3 Shaat

(c) 1 3R 3 Shaat

d)1,23fR3

fay IR E1e & d8d Rt FHed & deo A Ffafad syl

faR &%

1. i e 9fstSt AUR &t e 781 et & iR fom foneht T
& argAfa & et 21

2. ITEA 3R SATUR aht fapd et aret eft eReg IH U g
e Tfediel # o1md 8

3. ST T & @ Y i dimr e )

IR U 74 hl & @ e a1/ 98l &/8?
(a) haer 1 3R 2 (b) Shaet 3
(c) Paer 2 3R 3 (d)1,23R3

fasyy wrem i (WHO) & e d fRmfifea suml = faer

HIS:

1. fa5y @y TTed & 9w <1 & I fasy @y g1 § 9ieH
! 3T ST aTet edichT AT et Je &d &

2. g TG SERe (USA) WHO & uHE SR I=aad
W ahremeRatei & & ek g1

3. WHO & Sg9R, & gt Afer Sredt Ot gar & 919 ot 8,

T 3T MEsEyd fafie @ s g1
IR U Mg oAl A @ @ 91/ gt 781 8/8?
(a) Shaer 1 3R 2 (b) Faat 3
(c) Shaet 2 (d) Faet 2 3R 3
fr=fafEa & @ @t ga1 Siaxigha g1 Fiw (IMF) & fashy sme=or
SARRT o TG T TS ol el 87
1. g 2. = =i
3. Siieferas gier 4. ST a9
2 g 71T e o1 T R el IR AT
(a) dhaet 1
(b) aet 1 3R 3
(c) Fhaer 3
(d) dhaer 2 3R 4
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Q31.

Q32.

Q33.

Q34.

Q35.

Q36.

‘Which of the following countries is/are not the member(s) of the
Bay of Bengal Initiative for Multi-Sectoral Technical and
Economic Cooperation (BIMSTEC)?

1. Myanmar

2. Bangladesh

3. Sri Lanka

4. Maldives

5. Bhutan

Select the correct answer using the code given below:

(a) 1, 2 and 5 only

(b) 4 only

(c) 2, 3,4 and 5 only

(d) 1, 2 and 3 only

With reference to the groupings of Countries known as BRICS,

consider the following statements:

1. The BRICS Contingent Reserve Arrangement is a framework
for protecting against global liquidity pressures.

2. All the BRICS members are part of G20.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements regarding India-ASEAN

Relations:

1. Delhi Dialogue is a mechanism hosted by India annually with
ASEAN.

2. Indiais a part of ASEAN’s ADMM Plus, which is an annual
meeting of Defence Ministers.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Financial Action Task Force (FATF) consider

the following statements:

1. It is an international watchdog for financial crimes
established at the G7 Summit of 1989 in Paris.

2. The FATF currently has more than 100 members with India
being one of them.

3. If a country is red and/or blacklisted under the FATF’s lists,
it makes it hard for countries to get aid from International
financial institutions.

‘Which of the above-given statements is/are correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d1,2and 3

‘What is the strategic importance of the China-Pakistan Economic

Corridor for China?

a) For easy access to Afghanistan for trade routes.

b) China’s trade with South American countries
enormously increase.

¢) To counter the Malacca dilemma.

d) To establish a foreign military base in Balochistan, Pakistan.

will

With reference to New START Treaty, consider the following

statements:

1. It was negotiated between the USA, Russia and China.

2. It aimed to limit the total number of deployments of strategic
nuclear warheads and long-range missiles and bombers.

3. One of the drawbacks of this treaty was the non-availability
of on-site inspections.

Which of the following given above is/are incorrect?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q37.

Q38.

Q39.

Q40.

Q41.

Q42.

Recently, India and the United States held the 13th Ministerial-

level meeting of the India — United States Trade Policy Forum

(TPF) in Washington, DC. What is the significance of the Trade

Policy Forum?

(a) It is only dedicated to amicably resolving India-USA disputes
in WTO.

(b) It aims to implement the China Plus Strategy.

(c) It works for the protection and enforcement of Intellectual
Property only.

(d) It is a forum for resolving disputes involving trade and
investment between India and the US.

With reference to National Science Day, consider the following

statements:

1. Ttis celebrated in the commemoration of the discovery of how
the nucleotides in nucleic acids control the synthesis of
proteins.

2. The discovery was done by Jagdish Chandra Bose and C.V.
Raman together.

3. The theme for National Science Day, 2023 is ‘Global Science
for Global Wellbeing’.

Which of the statements given above is/are not correct?

(a) 1 and 2 only

(b) 2 only

(c) 2 and 3 only

(d) 1 only

Windsor Framework, recently seen in the news, is the latest
attempt at a remedy to the political complexities that have
impacted trade and sentiments in which of the following
continents?

(a) South America

(b) Asia

(c) North America

(d) Europe

With reference to the CO2 Emissions in 2022 report, consider the

following statements:

1. Disruptions to traditional fuel trade flows and gas-to-coal
switching in many countries led to global growth in emissions
as expected.

2. Emissions from Asia’s emerging markets and developing
economies, including China, grew more than those from any
other region in 2022.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct regarding the

Lone-wolf attacks?

1. It refers to a violent terror attack by an extremist individual.

2. It involves a group of individuals working together for a
common target.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

In the context of Drug Trafficking, which of the following state
do not fall within the category of Golden Triangle?

(a) Myanmar

(b) Laos

(c) Thailand

(d) Vietnam
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31.

32.

33.

34.

35.

36.

fafafRa 3§ @ b a1 3 agesfia qa-fidhr s snfifes Tgai & fag
ST Y @ret uget (BIMSTEC) &l Gee 7gf &7

1. ™WHAR 2. JiTeATeST

3. sficier 4. Aredlq

5. oeH

12 g 7T e o1 T R Tl IR gF:

)aam 23R5

BRICS ek 221 o &g & T #, Fmfafed sl w fder &

1. BRICS 31Tehfeeh smRféa FAfey crawen &fYe averar qemal @ grem
& foI Top TR 81

2. BRICS & @ft ey G20 & fgw €1

IR Ry mu puet A @ i 91/a 9l 8/87

(a )3761?'!1

(b)
(c) 1aﬁ?2a=ﬁ
(d)yaat1siRag2

IRT-IMAIT Gl & day § AefafEa st R foar &

1. Rt set uRT gRT AT & iy aifties & 9 IS
Ueh dF 81

2. YRd @M & ADMM+ o1 fg@ar g, <Y em @fa} &t
aiffen d5h &

IWR Ry 17 el # @ @i 91/ et 8/8?

(a )W1

(b)
(0) 1aﬂ?2a=ﬁ
(d)yFat1sRad2

TIEARITe TarM e B (FATF) & deef § fR=feifaa suet wR

foaR RS

1. ag 9RT & 1989 & G7 AR e & wfug fa<ita sroxre &
feIQ ga siqwargia ugdt 81

2. FATF S gdam & 100 ¥ o1fdes g g S8 wRa oY enfae g1

3. aft &IE A FATF &t it & dgd ot iR /ar aleft It & 8, at
22t & fog SiaRfEy =i Y=t & Tgrar urd @A sis gt
ST 81

IR Ry TG Tyl § € aH-a1/8 98 &/8?

(a) thae 1

(b) Sheret 1 3k 2

(c) haer 2 3k 3

(d)1,2 33

=7 & forg Sa-urferear snfefes nferar (CPEC) @1 9mRes wg @
&?

a) MR ART & fAY ST deh STEH ugs o forg)

b) aferor st 3t & 1y AT & euR F WR gieg gkt

C) AR Hehe el HehTeeT e & fagl

d) SoIfaeam, urfchea # Uen fadsft &= srgr waifia ez

New START Treaty & dieH & Ffaifed el &R fdar Hifsr:

1. 39 R AR, 4 R =4 & i ara=id g ot

2. 3UHT 2 I wRATY] Rt ok wieft ot hr gt ek
FHTWRT Y AT Rl pet ATt WA T AT

3. 39 9fY &l sffal | 8 gon Sif9-a18e AQeror &t srgucreerdr ot

SWi & @ B I1/3 e &/8 ?

(a) Faet 1 3R 2

(b) Faet 2 3R 3

37.

38.

39.

40.

4.

42,

(c) Faer 1 3R 3
(d) 1,233

g1t &1 #, W ofR Tga s mfent 3 afdited, DC # WRa-Tgad

g AR Aifd BRA (TPF) & 134} gy doo smaifSia i

IR fifd Wy &1 741 "ga §?

(a) 8 haad WTO # 9Rd-guay faamal «t dgriyef & 4 &
& & fog gafta g1

b) SHT I2T A wH O AR AT B

(c) TB Thae Sifees TUeT & TR&IUT 3R Uad- & T s et B

(d) T8 9Ra 3R 3feT & g aUR ok A ¥ 5@ fAaret @t
YT &1 Goh A9 &

T AT Raw & eof # F=fofRa Fu w ek Hifsd:

1. 9% 39 91 & @1 I Tjfa J 79T S g s i giis |
Ifrriczs WéH & Tt ot Y FaiHa a=d

2. QIS STEIRT 9g a1 SR Wit w99 7 fetans i oY

3. I famm e, 2023 6 ofim affes wers & forg afdes g
|

IR T MU Yl F @ i 91/d 9t T8l &/8?

(a )arcxawﬁu

(b) haet

(0) amme-ﬁqa

(d) haer

g 81 A gHERI & 3T T fdeWR thHad IsTifae Sifeerdnstt &
AT &1 AdH98 Y g S Refefea d§ 9 g geidio |
TR 3R =TT vt Tefad fomar 872

(a) =feror smfenr

2022 ¥ CO2 I&uH Ruté & deof § fmfafla et wR R

HfST:

1. o3 21 7 URURS Se9 STUR UaTg iR 19 ¥ Shigel TR WHIEaR0T
# Jeprerct & hRUT IGsi J Affeh gfeg &t Iie ot

2. @19 9fga ufn & IR IoIRi SR aerrsfier srfaawratt &
Icqsid 2022 H fendt ot e &1 el o1 | 34fdeh da1!

IR RY T syt & @ o a1/d It 2/8?

(a )W1

(b)

(0) 1aﬁzzaﬁ=ﬁ

(dyaat1sRRagr2

AH-geth gl & dey J Amfofad § @ o 91/3 o 9t 8/87?

1. Ug Ueh axauft afery gRT fgeh SiTdeh! gl ol def¥fd ehear g1

2. U8 U M AT & folU Ueh 1Y hIH o aTel aafeeral ol
g A giar g

12 g 1Y e o1 T R "l IR A

(a) paet 1

(b) et 2

(c) 18R 2 gt

(dyaat1sRadr2

Mt uerf &Y daEendl & Teof | Rfafea & @ b a1 T=u w@of
oget &t oft F 78 arrar 82
(a) ™HR
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Q43.

Q44.

Q45.

Q46.

Q47.

Q48.

With reference to the Types of Cyber Attacks, consider the

following statements:

1. In ransomware attackers make a hostage of the victim's
system and demand to pay money.

2. In a Phishing attack, the attacker first impersonates to be a
trusted contact and then sends a phishing mail, after opening
this, he can take access to confidential information and
account credentials.

‘Which of the Statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements:

1. Crop rotation is changing the type of crops grown in the field
in each season.

2. Sequential cropping is the practice of growing two or more
crops at the same time on the farm.

3. Intercropping is the practice of growing multiple crops one
after the other in the same year.

‘Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

‘Which of the following are the possible impacts of soil pollution?
1. It may cause soil magnification.

2. It may cause clogging of drains.

3. It may decrease the pH of soil.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements regarding the National Forest

policy 1988:

1. It aims to ensure environmental stability and ecological
balance.

2. It aims to check soil erosion and denudation of catchment
areas of rivers.

3. It aims to check the extension of desert areas of the Rajasthan
region.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d1,2and 3

With reference to the Biological Diversity Act, of 2002, consider

the following statements:

1. It provides for the establishment of the National Biodiversity
Authority for implementation of the Act.

2. It provides for sharing of benefits arising from the use of
biological resources.

3. It provides for the constitution of Biodiversity Management
Committees by the Union Environment Ministry.

Which of the Statements given above is/are not correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements regarding blue bonds :

1. Blue bonds are financial instruments that are designed to
support sustainable marine and fisheries projects.

2. They are independent bonds like green bonds for
environmental financing.

3. Mauritius launched the world's first sovereign blue bonds.

‘Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 and 3 Only

Q49.

Q50.

Qsl.

Q52.

Q53.

Q54.

(c) 1 and 2 Only
(d) 1,2and 3

The Bilateral exercise "VINBAX 2022" was conducted between
India and

(a) Indonesia

(b) Vietnam

(c) Madagascar

(d) Seychelles

Consider the following statements :

1. The hydrogen fuel cell bus was developed by CSIR and KPIT,
an Indian MNC.

2. Itis in line with the National Hydrogen Energy Mission.

3. Hydrogen fuel cell electric vehicles require more refuelling
time than battery-powered electric vehicles.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements regarding flex-fuel vehicles :

1. Flex-fuel vehicles use a combination of petrol and ethanol or
methanol.

2. It will help reduce harmful pollutants like oxides of nitrogen
and sulphur.

3. The government aimed to increase ethanol blending in petrol
to 30% by 2030.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 1 and 2 Only

(c) 2 and 3 Only

(d)1,2and 3

'Dharamshala Declaration, 2022' recently seen in the news is
related to

(a) Tourism

(b) Road safety

(c) Environmental protection

(d) Women Empowerment

Consider the following statements with respect to the Objectives

of POSHAN Abbhiyaan :

1. To create awareness about malnutrition among pregnant
women and lactating mothers.

2. To reduce the incidence of anaemia among young children,
adolescent girls and women.

3. To promote the consumption of millets, coarse cereals and
eggs.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) 1,2and 3

Consider the following statements regarding National Health

Account Estimate, 2018- 19 :

1. Government expenditure has increased substantially from
28.6% in 2013-14 to 40.6% in 2018-19.

2. Government and private sector show an increasing trend in
expenditure in both the primary and secondary sectors.

3. Out-of-Pocket Expenditure (OOPE) as a percentage of total
health expenditure has declined substantially by 16%.

4. Government-financed health insurance has increased
substantially.

Which of the above statements is/ are Correct?

(a) 1,2and 3

(b) 2,3 and 4

(c) 1,3and 4

(d) 1,2,3and 4
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43.

44,

45.

46.

47.

48.

qIEsR ghell & TRl & deof § fRmfafRd sl iR AR fHifsd:

1. IgHmR 8 guater Hifed & Reen o) due s=r o € sk 88 33
&I T R &

2. frfAT gaet #, BHATER Ugdl Ueh Ay dudh g ot fearen
Mo SR SR @I thaf e deh Ugd U &R Gehd g

IR U U YAl A @ ie-a1/9 Tl &/8?
(a) Shae 1 (b) et 2
(c) 1 3R 2 =t (d)yaat1siRag2

f=fafed wu R AR &

1. Y TehUT Udeh HITH & Dd H IS ST aTell Hael o UehR ahi
g BT 8l

2. SThiAe Ba Wd H G 8 999 | & a1 & § 31k wae! ar
I R UAT B

3. 3iqthad YTt Teh gt atf & Ueh o 91¢ Ueh ehs thdel ST &l gT
gl

IR U U YAl A @ ie-a1/9 Tl &/8?
(a) ehaet 1 (b) et 2 3R 3
(c) charet 3 (d) 1,233

fefofad # @ &9 @ 71 Uguur & Hifad g4 8?2
1. Tg 7al 3MaY I HRUT g bl &

2. 399 1ol s gl Hehdll 81

3. ug At & PH ot o o Tohal &

2 g 7T e o1 T R Gl IR gA:
(a) a1 ek 2 (b) hereT 2 3R 3
(c) dhaer 1 3R 3 (d) 1,233

It g Afifq 1988 & day A fAmfafea syl &R foar i

1. SUHI I guiervr fRARAT iR uikfRifde dgem gRfda s
gl

2. 391 32 A & whera SR AREl & STeugor &5 & SIS
& ST HEAT I

3. SYHT I ISR &5 & A &5 & R 6 S dwean
gl

IR U MY syl F @ Hi-41/8 el 2/
(a) et 1 (b) thaet 2 3R 3
(c) ae 3 (d)1,23R3

Sfaes fafayar srfdfazm, 2002 & deof & F=ferf@a st wR faeR

HIS:

1. g e & ertaad & fog e sig fafdear mfdesor 6
SITYAT <hl UTIYTH hdl %I

2. g Sifae daret & Iuaht @ g aret ol ol 918 @
YT &l g

3. Ug $her qalaRul HAATerd gRT wig fAfderdr yee affaal & meq
T UG T 8

IR U Ty Al # @ -4/ Igt a8t /82

(a) thaet 1 (b) haer 2 3R 3

(c) haa 3 (d)1,23R3

& dfs & "oy 7 FAefafEd sl iR AR &

1. = dis fo<fig arem § % e w9l ok a7 urem
gRateTaT et gaed oA & forg fewms fohar mar &1

2. & ygfaror fa<uivr & fog i gig & g wda ais §1

3. ARRE A g o1 Uge iaRA & i il fohal

SWRIT § @ &l 1/ HUF Tat 8/8?

(a) Faet 1

(b) 2 iR 3 Faer

(c) 1 8iR 2 Faer

49.

50.

51.

52.

53.

54.

(d) 1,23k 3

feueha srvarg "fidem 2022" wRd 3R & i S fomam ma ar
BOESEIRRI

(b) frga=m=

(€) ASHTTERR

(d) S

ffafEd del R AR &%

1. grSgio S8 91 99 & CSIR 3R KPIT, T YR Sg8d
Ul gRT [AenfRa fomam T Tl

2. g AL EEGIH ol fHRM & 3% gl

3. FISgIoM U A Saifaeds aTeHl ot Skt ATferd Sifaeh aTgHl Y
T & 31fdes SeH A & 9T FY ST gt gl

IwRiad # @ i Tq1/A HUH Tat 8/8?

(a) 1 3R 2 haa

(b) 2 3R 3 Haa

(c) 1 3R 3 Haa

(d)1,23R3

TAag-EeH arg-i o gy # fFAfeifed del &R fdar &2

1. TIeT-We aTeH Ugiet 3R 3T a1 HYFieT oh TSI ohl SUANT
P Bl

2. gg SIS 3R Teth & SIS S §IfhRes UGWah! ahl Al
P H HEE BT

3. TR 7 2030 deh Ueid & 37T fA%0r Hl 30% T Se &
8T @ 8l

IR § @ i I1/9 U el g/e?

(a) haet 1

(b) 1 3R 2 shaet

(c) 2 3R 3 shaet

(d)1,23R3

BT a1 & THmER! § g7 "yHerer g, 2022 fhad d&6fda &
(a) wheT (b) Tgeh gram

(c) TTTaRoT T=eTuT (d) AfgaT gerfayeor

vy Sif R & Iedl & ey & Rmfafed syl o R &

1. mefad afgersit ofk U™ A areft ATaTe & puiyer & IR F
STRReehd] GeT ST

2. B g, Rl ofik afgemst & whiftar &Y gemei &t &n
hATI

3. TSR, A 3T 3R 3ig 6 Wua &l derar AT
IWRIed A G i A1/ HI et 8/87

(a) 1 3R 2 haet

(b) 2 3R 3 Shaet

(c) 1 3R 3 Shaet

(d)1,23R3

TETT @Ry @A A, 2018-19 & day § Mmfofed el W

[CEIECTS

1. WaHRt &g 2013-14 F 28.6% T dgas 2018-19 & 40.6% &t
™I

2. Tt ofiR FAsht & urufies ofk fgdiaes aiFt &=t & oo 7 gfg
& ugh feard 81

3. Pl WA Y o YfdLTd & U H H13e-3HTth-Ulehe & (OOPE)
H 16% &t It fiRTae onrg &1

4. TR R fo Uifla e sfter # i gfg g8 8

IR | @ 9 91/8 o 9g) 2/8?
(@)1,23k3 (b) 2,3 3R 4
()1,33R4 (d)1,2,33R4
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Q55.

Q56.

Q57.

Q58.

Consider the following statements regarding Extended Reality

(XR) Technology :

1. Virtual reality does not create new reality but overlays digital
images into the real world.

2. Augmented reality is a 3D, digital environment completely
generated through computers.

3. XR startup program announced by the Ministry of Electronic
and Information Technology and Meta.

‘Which of the above statements is/ are Incorrect?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements regarding Mangrove Alliance

for Climate (MAC) :

1. Mangrove Alliance for Climate (MAC) was launched at the
27th Conference of the Parties (COP 27) of the UNFCCC.

2. India is a partner country to the Mangrove Alliance for
Climate (MAC).

3. It seeks to educate and spread awareness worldwide on the
role of mangroves in curbing global warming and its potential
as a solution for climate change.

4. MAC carries out checks and balances to hold members
accountable for Mangrove conservation.

Which of the above statements is/ are Correct?

(a) 1,2 and 3

(b) 2,3 and 4

(c) 1,3and 4

(d) 1,2,3and 4

Consider the following statements regarding PM DevINE :

1. Itis a central sector scheme.

2. Itis implemented by the Ministry of Road and Transport.
Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following statement with respect to e-waste

management rules, 2022 :

1. Producers of electronic goods have to ensure at least 40% of
their electronic waste is collected and recycled by 2023.

2. Extended Producer Responsibility Certificates will allow the
offsetting of e-waste responsibility to a third party.

3. Provision of environmental compensation for companies that
don't meet the target.

‘Which of the above statements is/are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Q59. With respect to Black Sea Grain Initiative, consider the following

statement :

1. The deal provides for a safe humanitarian corridor for the
export of Ukrainian grains through the Black Sea.

2. The deal is brokered by the United Nations and the USA.

3. A joint coordination centre was established to monitor the
implementation of the deal.

‘Which of the above statements is/ are correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Q60. What is 'VSHORAD' sometimes seen in the news?

(a) Israeli Anti-tank guided missile.

(b) Indian Air defence system.

(c) Radar surveillance system developed by Russia.
(d) American anti-tank missile system.

Q6l.

Q62.

Q63.

Q64.

Q65.

Q66.

Which of the following movement was/were revivalist in nature?
1. The Deoband movement

2. The Prarthana Samaj movement

3. The Aligarh movement

Select the correct answer using the codes given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 only

(d)1,2and 3

‘Who among the following leaders was/were associated with the
Prarthana Samaj?

1. Sri Narayana Guru

2. Mahadeo Govind Ranade

3. R.G. Bhandarkar

4. Gopal Krishna Gokhale

Select the correct answer using the codes given below:
a) 1and 4 only

b) 1,2 and 3 only

¢) 1and 2 only

d) 1,2,3and 4

With reference to the Arya Samaj Movement, consider the

following statements:

1. It was the result of a reaction to western influences.

2. The headquarters of the Arya Samaj was established in
Kolkata, West Bengal.

Which of the statement(s) given above is/are Incorrect?

a) 1 only

b) 2 only

¢) Both1and?2

d) Neither 1 nor 2

With reference to Zamindari Association, consider the following

statements:

1. It was founded to safeguard the interests of the Peasants

2. The association use of methods of constitutional agitation for
the redressal of grievances.

Which of the statement(s) given above is/are Incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following is/are the aims and Objectives of the

Indian National Congress?

1. To politicise and politically educate people

2. It promoted friendly relations among nationalist political
workers from different parts of the country

3. It promoted free vocational training to marginalized sections.

Which of the statement(s) given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 2 only

(d1,2and 3

Which of the following were the reasons for the weakening of

Swadeshi Movement?

1. There was severe government repression.

2. The movement largely remained confined to the upper and
middle classes and zamindars

3. The movement was not adequately funded.

Answer the question using the code given above.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 2 only

(d)1,2and 3
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55.

56.

57.

58.

59.

foeaRa arafderar (XR) & dey d Rmfafed sy R AR =

Teh-Tehl

1. SR aRdafdeRar (e Raferd)) 78 arafaehar 98t s=rdt 8
gfeen f3fiea sfadiat arafde gfar # sreered st 8l

2. Haffq ardfaedar g 3D, fefSiea amamaRor @ it it T &
Shegex & HTeH § I gl 1

3. g ik gaar Wenfidh w@arer ik der grT wifda XR
WIEINT HhRiehy |

S & § &I /8 Y 7Te1d 8/87

(a) 1 3fR 2 haet

(b) 2 3fR 3 haet

(c) 1 3R 3 Shadt

(d)1,23fR3

[T T Bk aeilshe () & gy 7 Fefafad sl R iR

&

1. H79 A" BR gargie (MAC) st UNFCCC & uiféat & 273
TR (COP 27) # df=g foram i am|

2. Rd §0 T Bk SA1SHe (Hh) hT MR 227 &1

3. Ig Tellad it Aeh SR STerarg uRad= o T o w9 J
ZhT &TdT i Aeht B FUYG Al ffert R g R & fAfda ok
STFReehdT Shel T ATgT &

4. B A TRefur & foiy el ol STaTeeg dg3m o foiy 1w 3k
BRGEETGIE

IR & g &hiF T1/8 T et 8/8?

(@) 1,23k 3

(b) 2,3 3R 4

(c) 1,334

(d)1,2,33R4

PM DIVINE & g # fA=faifaa st ok foar e
1. UE T hald &7 hl TerT 8l

2. g gsoh 3R uRag H31erd gRT shrif=ad &l St g1
SR A @ &I 1/ HUF et 8/87

(a) haet 1

(b) haet 2

(c) 1 3R 2 gt

(d) 318 @ g oft 7

$-oha¥ yaiee H, 2022 & dey # AEfefEd a0 e o

1. Soagi-h AT o ITadh! ht I8 JRTYa ST g fas 2023
dHh ITh gl HaR HI HH 9 HH 40% Tad SR
g-idTenvoT fohar Sq|

2. e ffar SoafR@ Ao gdis uer @t $-sufle
ITREIRAT Y +RUTS et hl SIAFT &M

3. oed g et aTett shufat & forg warferor erfagfe et umaem

SR ol & @ Si-a1/S T8 /82

(a) 1 3R 2 Saat

(b) 2 3R 3 Saa

(c) 1 3R 3 Shaat

(d)1,23R3

AT IR TS Ugd & dae H, R=faf@d syl = faar &%

1. eI HTAT AWR o AT T Gehrit SHTST o f-atd o folg Tep gRfgd
AT TieRRT UgH &hdT &1

2. gg HiaT U Y 3R IFRIHT GRT Yeh HLIEIdT 8|

3. 9} & wrafaga i ARt & g v dgaa gy dhe wnfia
foma mar

IR A @ i 91/ hy 9 /87

(a) 1 3R 2 thaat

(b) 2 3R 3 thaat

60.

61.

62.

63.

64.

65.

66.

(c) 1 3R 3 dhaa
(d)1,2 3R 3

Ffl-rof} TR | g arer 'agikig’ v §?
(a) ZoRTCA Ué & sSs fAase |

(b) R g 38 yoTTett|

(c) =T gRT fAopfAd R AR vomeft|

(d) 3MREAT U T faTe Ren|

fr=fafea 7 @ o ar sticlem ugfa § greemard «a1/9?
1. e S
2. U QAT Siete

3. 3MeiNTE Srigi

19 g 7Q e 1 T R @ I AT

(a) Faer 1 3R 2 (b) Faer 2 3R 3
(c) Thaat 1 (d)1,2aR3
ot Adrs & @ = urefAr gare € et ur/9?
1. it TR0 T

2. #grRg Mfdg IR

3. 3RS SRR

4. OIS 0T TMRget

12 g 1Y e o1 T R el IR A

(a) haet 1 3R 4 (b) Shaet 1,2 3R 3
(c) Faet 1 3R 2 (d) 1,2, 334

ST TS Sieter o de & AEfafad weel v iR fifsd:

1. T ufgHt geTat i ufaferar s aRom o)

2. 3 HHATST T JEATT hicichldl, UigH st & wfua frar mar
o

IR U U pl & @ g 91/9 3T /87
(a) e 1 (b) Faer 2
(c) 18R 2T (d)yTFar1siRag2

SHiert 99 & deof # Rmfafad syl wR far fifsd:

1. SHh! AT fRaY & fRal &t 2am & forg & i oft

2. g9 fAmral & Fero & fog Gdue sridie & adiet @t
UG &l B

IR U Y spel & @ T 91/S Terd 8/8?
(a) et 1 (b) thaet 2
(c) 13k 2 Mt (d)aat1siRagr2

fefafad 3 @ o9 a1 / 3 aRdg I g & deg 3R 3B §?

1. T <hT ST =T 3R retifoes ®0 9 fAf&a e

2. 354 &1 & AT iRt & amardY aorifaes erdadfstt & g
Bfrguf Seiert it argrar i

3. 3T+ dHid art ol o ATaaTiies uferr st agrar

IR T MU pyl A @ i a1/d ggt &/8?

(a) Faet 1 3k 2 (b) haet 2 3R 3

(c) Shaet 2 (d)1,23R3

fAfaf@a 3 @ aF-8 wRsf srige™ & waeik 89 & R &7
1. ofivor TReRY g5 o
2. i STl g deh =1 3R 7ew gt 3fik SiHier] deh gt difta

8T

3. 3fieted ot gafd w0 @ fAaifa T8t foear mar o
FWR T 7Y Fe T gFT HR U HT IR |

(a) Fhaer 1 3R 2 (b) dhaer2 3k 3
(c) Faer2 (d) 1,233
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Q67.

Q68.

Q69.

Q70.

Q71.

Q72.

Consider the statement with reference to Morley Minto reform:

1. The Act introduced communal representation in Indian
politics.

2. The promulgation of the Morley-Minto Reforms of 1909 is to
be seen in the background of a phase of turmoil and militant
activities.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Who among the following was the president of the Indian
National Congress at the Surat session?

(a) Rash Behari Ghosh

(b) Womesh Chunder Bonnerjee

(c) Anandamohan Bose

(d) Ambika Charan Majumdar

With reference to Militant Nationalism, consider the following

statement:

1. Militant nationalism represented a distinct phase in the anti
colonial struggle.

2. The militant nationalists adopted radical methods of
agitation.

3. Bipan ChandraPal and Lajpat Rai were prominent leaders.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 only

(c) 2 and 3 only

(d)1,2and 3

Which of the following were the demands of the early

Nationalists also known as the Moderates?

1. Demand for simultaneous Indian Civil Service examinations
in England and India

2. Spread of higher education among the masses

3. Expansion of the legislative council and Legislative
Assemblies, both Central and Provincial

Answer the question using the code given below.

(a) 1 only

(b) 3 only

(c) 1 and 3 only

(d1,2and 3

Consider the following statement/s with respect to the Prime

minister

1. It is under Constitutional provisions that the leader of the
majority party in Lok Sabha is to be appointed PM.

2. Oath of office and secrecy is administered by President in the
case of the PM while for the Council of Ministers(COM) it is
the administered by PM.

3. It is mandatory for the PM and COMs to become members
of the Lower House before their appointment.

4. In Britain, the PM can be a member of either the lower house
or the upper house.

‘Which of the above statements is correct?

(a) 1 and 2 only

(b) 2, 3, and 4 only

(c)1,2,3and 4

(d) None of the above

Consider the following statement/s :

(1) COMs are collectively responsible to Rajya Sabha.

(2) Death/Resignation of any Council of Ministers(COMs)
merely creates a vacancy that may or may not be filled up by
the PM.

(3) When a No- Confidence motion is passed against COMs
then only COMs need to resign while PM can appoint new
COMs.

Which of the above statements is correct?

Q73.

Q74.

Q75.

Q76

Q77

Q78

(a) 1 and 2 only

(b) 2 only
(c)1,2,and 3

(d) None of the above

Consider the following statement :

(1) COMs is a Constitutional body that is dealt with in detail
under the Constitutional provisions.

(2) Cabinet was mentioned in the Constitution since its
inception.

(3) COMs is larger body compared to Cabinet.

Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 2 only

(c)land 3 only

(d) None of the above

Consider the following statement :

(1) President can act against the advice tendered by the Council
of Ministers.

(2) When the Lok Sabha is dissolved, the President need not act
upon the advice of COMs while exercising the executive
power.

(3) President can seek reconsideration of the advice tendered by
COMs.

Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 2 only

(c) 3 only

(d) None of the above

Choose the correct statement/s :

(1) Charan Singh was the first non-congress Prime Minister.

(2) Morarji Desai was the first PM who was earlier Chief
Minister in his respective state.

(3) PV Narasimha Rao was the first and only PM from Southern
India.

Which of the above statements is/are correct?

(a) 1 and 2 only (b) 2 only

(c) 3 only (d) None of the above

Consider the following statement with respect to the composition

of the council of ministers:

(1) COMs consist of three categories of ministers namely cabinet
ministers, ministers of state, and deputy ministers.

(2) Constitution provides for the post of Deputy Prime Minister.

Which of the above statements is/are incorrect?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) None of the above

Consider the following statement/s :

(1) Every minister has the right to speak, take part in the
proceedings, and vote in any house of Parliament.

(2) The constitution does not provide a limit on the number of
ministers in the Council of Ministers.

Which of the above statements is/are Incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

Consider the following statement regarding the ‘Cabinet’

(1) The Supreme executive authority of the Central Government
is exercised by Cabinet.

(2) The Constitution specifically authorizes the PM and Cabinet
to deal with the emergency situation under Article 352.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above
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67.

68.

69.

70.

71.

72.

Afet e guR & Heof A 39 dvA R AR &2

1. Srffmm & TR TeHifa § aineRie afafAfaa i gosmd 6

2. 1909 & HAi-fiet GuRT &1 Svon ot IUA-YI 3R Iuarc
wfafaferat & SR & geyfa # <@ S =fey|

IR U U Al & @ i a1/ Tdl 8/8?

(a) et 1 (b) chereT 2

() 18R 2 &=t (d)yFat1aRag2

frafafEa 7 @ o R sifam & wRda Tk aite & sieger 97
a) 79 fIgr iy
(b) TAT TeR Fsit
(c) STieHIE a9
( ) SiferehT =RT HefHER

3T g & Jeof # Refaf@d sl iR R Hifsd:

1. YA wgare 3 Iufder-foRiet Tud F wa s RO @
ufaffe fram

2. IUATE AFATRTT 7 STigie o shifclehRT aXich gAY

3. fafte <iqurer R reTua I o Adr 91

IR U U heAl | @ i a1/a Il 8/8?

(a )arcvm 3R 2

fr=fafEa 7 @ -t gRed agarfeat 6t 7f off 2 Serard) off

gl STIT UT?

1. i 3R YRT & Ueh iy YR f&fder ar udten i o

2. STl & g 3= A8 a1 gaR & FqnT

3. &er SR uidia gt Ay uRwel $iR faemT gamst o1 AR &Y
T

2 g 71Q e T TRINT &R U T SR <

)arcvm

Uy 3t & ey § Rmfeafed sl = R &

1. g GauTies uraeri e dgd ¢ fob TAlea & SIgHd & e AT &l
PM fager forar ST 81

2. g 3R Musfigdr $r oy gt & amd § Ipufa gr {as
ST € STafes @fuiue (COM) & At # g Tems grr feans
ST B

3. PM 3R COM & forg I fAgfaa @ ugdt et 9 o1 ger
T SifRart g1

4. a9, PM gt Oe a1 I=T Ue ol 9 gl Uehd 8

I & § &I 91 U Tal 87

(a) 1 3R 2 thaat

(b) awr 2,3 3k 4

() 1,233 4

(d) Iwje & & i T8l

fAefafaa wu R AR &

(1) "Ry Arffee T & 5T THT & Ufd IAerT gid &l

(2) foreft oft wifuRwe (COM) H gag/z=itr Faet T RfRy dar
AT & ST T H3Al ZRT ¥RT ST GehdT & a1 el o} 8 GepaT 81

(3) 1w 1@f3 ulRue & feers sifasyra veara uiika fevar St & It dhaet
3G ! STAHT 3 hl SITaThdT gidt & STafeh PM Tt @RafRee
g o= I &

IR H @ Bl 91 hy= Tgl 87

(a) 1 3R 2 thaat

73.

74.

75.

76

77.

78.

(b) Shaet 2
(c) 1,2, 33
d) Sue & @ S el

fA=fafaa Fom R AR &2

1) "@fuRee g Gdue Fam & 9 ddarRe ey & dgd
fowr & fAuera strar g1

(2) Fferc o1 Iovia fdem & Hd! RITTAT & THy 9 fohar T o

(3) hfeme Y gt | #uRYg 21 Fer 81

IR w1 & T hi-91/9 ! 8/8?

(a) haet 1 3R 2 (b) e 2

(c) haet 1 3R 3 d) Swjad & ¥ i gl
fAafifed waa R R &

(1) wrgufa @fAuRug gRT ) 18 Terg & favg rf o Tahdr 81

(2) ST ARGAT 7T g1 ST 8, o FRIARY AfRT Al TINT T T
Tgufd ol HHORYE 6 TATE TR BRI e i STa=Tehar gl gidt
|

3) rgufd aRYE gRT & T2 T8 R YAGAR Sl AT & Fend &

SRITd Al & T ohi9-a1/a T8l /87

(a) Fa<t 1 3R 2 (b) haet 2

(c) a3 d) Sudert & @ S el

TET YT T T %

(1) == {3 uger AR b gu=aEs 91

(2) RIS $HTE U T & Sit uge 1o Iy | et 3
(3) Wl AT W@ Ef&oT YRT T Uge 3R TehH™ guTHAT o |

IR wut & @ Fi-a1/F T8 /82
(a) et 1 3R 2 (b) Shaet 2
(c) Fa<t 3 d) Sudert & @ S el

nfAufRue &6 T & gey 7 Aefaf@d st ) fTaR &

(1) "uRue & At 6 i 2fow g § Fene 5=, T w5l ok
IuHAT|

(2) Gfaem 3u vy w3f & ug & iy uem sar g1

IWIed hY=1 & G hiF 91/9 7Tedd &/8?

(a )%?H

(b)
(0) 1aﬁ?22ﬂ=ﬁ
(d) S & & oiE A8l

fAefafed vy R AR &R

(1) U@ T30 ot TGO & fopedt off Te & e, srfarel § um o
3R e e o1 SIfIaR Bl

(2) Gferur dRuRve & w4 & G@r R ol D41 uer T8 aedr
|

IR d § i I1/8 &y Tead /87

()ﬁh_d?ﬂ

(b)
(c)1eﬂ?2a=ﬁ
(d) 3o & & g @l

&g’ & Jey § F=fafad sl ) R &R

(1) g IHR & Fared hrRIhRT UTfAh0T &1 TR fsme gRT forar
ST 81

(2) "faem fAdy U & PM 3R &fde ot srgede 352 & dgd
STTdeRTen R & e & fog sifdred sear 81

SR ! H i1/ TEl B/8?
(a) ehae 1 (b) e 2
(c) 1 3R 2 gt d) Sudaa # @ g et
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Q79.

Which of the following statement regarding “Kitchen Cabinet”

is/are correct?

(a) It is a constitutional body.

(b) It consists of the members of the cabinet and all Chief
Ministers of the state.

(c) Members of the Kitchen cabinet do not necessarily have to be
Members of Parliament.

(d) It basically deals with matters related to food and vegetables.

Q80 Consider the following statement/s :

Q81.

Q82.

Q83.

(1) Cabinet committees are extra-constitutional in nature.

(2) Cabinet committees are set up by the President on the
recommendations of the Council of ministers.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

Which of the following statements regarding the Parliament of

India is/are correct?

1. India's parliamentary system consists of the President of
India, the Lok Sabha, and the Rajya Sabha.

2. Hindi names Rajya Sabha and Lok Sabha were incorporated
since the beginning of the Constitution.

3. The allocation of Rajya Sabha seats to the Indian states and
Union Territories is described in the Constitution's Fifth
Schedule.

Select the correct answer using the code given below

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements about the composition of

Parliament in India.

1. Members of the Lok Sabha are elected directly by the people
from territorial constituencies in the states, based on the
principle of adult universal suffrage.

2. At present, there are 545 members in the Lok Sabha. 530
members represent the states, 13 members represent the union
territories, and the two Anglo-Indian members are nominated
by the President.

3. Every Union territory of India has representation in Rajya
Sabha.

‘Which of the statements given above is/are incorrect?

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) None of the above

‘Which of the following statements regarding elections to the Lok

Sabha is/are correct?

1. The Constitution ensures uniformity of representation in two
ways: first, across states, and second, between constituencies
within the same state.

2. After each census, the distribution of seats in the Lok Sabha
to the states has to be readjusted, and the President has the
jurisdiction to determine the authority and procedure for
doing so.

3. The 104th Constitutional Amendment extends by ten years
the deadline for the elimination of seats reserved for
Scheduled Castes and Scheduled Tribes in the Lok Sabha.

4. The Constitution has adopted the First-past-the-post method
for the election of Lok Sabha members.

Select the correct answer using the code given below:

(a) 1, 2, and 3 only

(b) 2, 3, and 4 only

(c) 1, 3, and 4 only

(d) 2 and 3 only

Qs4.

Q85.

Which of the following statements is/are correct?

1. The Constitution has fixed the term of office of members of
the Rajya Sabha shall be six years.

2. During times of national emergency, legislation of Parliament
may extend the tenure of the Lok Sabha for six months at a
time for any length of time.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) 1 and 2 both

(d) None of the above

Which of the following statements about the qualifications for a

person to be chosen as a member of the Parliament is/are correct?

1. He must be not less than 25 years of age in the case of the
Rajya Sabha and not less than 30 years of age in the case of
the Lok Sabha.

2. He must be registered as an elector for a parliamentary
constituency.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) 1 and 2 both

(d) None of the above

Q86. Consider the following statements:

1. Asper Article 102 of the Constitution if any person holds any
office of profit under the Union or State governments he shall
be disqualified from being elected as a member of Parliament.

2. A person can be disqualified under the Representation of the
People Act (1951) if he has been found guilty of certain
electoral offenses or corrupt election practices.

3. A member incurs disqualification under the defection law if
he voluntarily gives up the membership of the political party
on whose ticket he is elected to the House.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) All of the above

Q87. Which of the following statements in reference to the Speaker of

QsS.

the Lok Sabha is/are correct?

1. He maintains order and decorum in the House for conducting
its business and regulating its procedures.

2. He decides whether a bill is a money bill or not and his
decision on this question is final.

3. His salaries and allowances are determined by the legislature
and are subject to vote annually.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) All of the above

Consider the following statements about the chairman of the

Rajya Sabha:

1. The vice-president of India is the ex-officio Chairman of the
Rajya Sabha.

2. The Chairman of the Rajya Sabha can be removed from his
office in the same manner as the Speaker of Lok Sabha.

‘Which of the statements given above is/are incorrect?

(a) 1 only

(b) 2 only

(c) 1 and 2 both

(d) None of the above
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79.

80.

81.

82.

83.

"o dhfeme" haR d REfefRadd s areu adi g / &2
(a) T8 U Tautfe Rera g1

(b) 3T Hfemc & T 3R Ty & Toft Pregwist anfiet g &
(c) forem &fame & el o) T Ye&g giFT STl gl 21

(d) 78 gt &U § +iieH ok afsoral § Taifda amell & Gefda &

fA=fafea Fuei R AR &R

(1) Sfere afafaat vefa & sifafaa Taenfe &

(2) #ifuRug &t ReRe R IFufa gRT Sieqe afmfagt &1 a1
e ST 81

IR Al d @ piH-91/3 Tl /82

(a )av_cl?ﬂ

(b)
(o) 1aﬁ?2a:ﬁ
(d) Sudfera & @ IS Tl

YR &Y TG & aR § F=ff@d & @ o a1/a oy 981 /872

1. 9RA & TSI TOTlt § YR & AU, FAehaT 3fR Ioa9eT
M §1

2. TogaT 3R ARaT & 3= Al ot Widem & oy @ gt anfae
foma |

3. 9RAE ISl 3R dhg A R ahl IreawT il @1 e
e 6 uradt srgeh 7 afefa 81

2 RQ 7g e o1 TN R el IR gAY

(a) hae 1

(b) 2 3R 3 thaadt

(c) thaer 1 3R 3

(d)1,23MR3

IRT & 9 Y G & IR 3 FEfafEa syt wR o &2

1. PO & IS gU%h IaHife qaideR & Rgd & STuR
R Ieal 7 &0 Fafas &9 & | g1 e g1 S 8

2. g9 # SiehaT # 545 9 ¢ 530 Haw I ol widHida
A 8, 13 I& dhe uf¥a ueslt o1 ufafAfda &=a 8, ik &t
3iTet MR Tt ot Agufa g AfAa fahar S g1

3. URA & UdS dhg AT TR T Tsgg & ufafafda g1

IR T MY o= F @ i 91/ Ted g/

(@) 1 3R 2 dhaat

(b) et 1 3R 3

(c) 2 3R 3 thae

d) 573 @ A off 7k

AT & TG & Gae & Fefoied 3 € aF 91/3 oy 98! /87

1. dfdam g adient @ ufafAfda & geneudr gfga oxar &: uga,
Tt H, 3R U, Toh 81 57 & Farad &5t & &gl

2. Uk ST & 91, AT & Togl ot el & fadwor &t fir
T g AT ugdr g, ok IEufd & Uy 99T &R & fag
ufareReor 3R ufehar RuiRa o o1 iffeR &= glar &1

3. 104af dfaem detes deas | srgfad sfaat ofk sggfad
STl & iy smferd diel ot g e i I d e
T T T 8

4, GfRYM 7 AR Gl & gAT & fy B -URe-&-UIRe ugfd
Y ST 81

12 g 7T e o1 T R el IR gF:

(@) dhact 1,2 3R 3

(b) haw 2, 3 3k 4

(c) haa 1,3 3k 4

(d) 2 3R 3 thaat

84.

85.

86.

87.

88.

frafafea & @ & 91/ s T8 g/8?

1. dfram 3 RyiRa frar & & =g a9 & gl & arafag o
TRichIel ©g a¥ gh |

2. TEN ATUTARIA h &R, THG AT DT ARTHT & hRIhIS oh
U IR § &g AeH & forg foha-t oft srafdr & fore o1 gepan 81

12 g 7T e o1 T R el IR A

(a) Thaet 1

(b) et 2

(c) 1 3R 2 At

d) 579 @ &I oft 7k

GOE & G & ¥U 8 g1 914 & oy foheft aafa &t giar F ar &

fAafafea & @ & 91/ s T8 g/8?

1. Y GHT & AT H ITeh! 3G 25 TN F T IR AT & ATH
7 30 g @ A =g gt =Ryl

2. I8 Qo G fFatae &5 & ol Tah Aderdr & &9 & Usiigd g
Tifgul

12 g 7T e o1 T R Tl IR A

(a) Thaet 1

(b) Thae 2

(c) 1 3R 2 At

d) 579 @ &I oft i

fF=fafed s W AR &

1. GfuE & srgede 102 & SER afk wg afay &g a1 I
TRepRI o Mefi fohedt 191 & ug R g ot 98 U9e 9o & w9 &
fRaiRa 8= & srav gt s

2. Smufaffe sifdfRae (1951) & d8d e afad @t e aiftg
fora ST GehaT ¢ afe I8 H© FATAT STORTY AT WE AT quTsi Al
Zeft U T Bl

3. U% 9C &A-9Gel Gl o ded Sragdl U &hedl § afS 8
BT ¥ 3 ASTHIcdh &l hl AT BIS dT & foredh fedhe W
Jg e & folg g1 SIrar 8|

IR T MU Y H @ i 91/d ggt &/8?

(a) 1 3R 2 Thaat

(b) haar 1 3R 3

(c) 2 3R 3 thae

(d) 3WR & Toft

AergHT & aremel & deof § Amfafad § @ o a1/9 = 98t 8/8?

1. I8 G & ShehIST o TaTeld 3R 9eh! uftharen @l afafaa
& & foly e & agawr ok qafer s91q @4 8|

2. gg fAvfg o=ar & o6 S fAdue om Rdas § a1 78] iR sg Uy
R 391 (Aufg sifaw glar 81

3. 3 a1 3R w fAenfer grr PuiRa fhe s € ofik arftes
TadeH & o1 g &

2 g 717 e o1 v AR Tl IR g

(a) 1 3R 2 Thaat

(b) haat 1 3R 3

(c) 2 3R 3 Thaat

(d) TR & Tt

TSl & gmufa & aR # el saa = R &2

1. YR T IURTEUFT AT AT ST UG FHTITA SiT 8|

2. TGN & GUTUfT ! AhgT & 3728 6l avg 8l I7eh g I
BeTIT ST 9ehdT B

IR U Mg eyl & @ Al 91/9 Terd &/8?

(a) Thaat 1

(b) Fhae 2

(c) 1 3R 2 @t

(d) 713 @ IS oft 7
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Q89.

Q90.

QI1.

Q92.

Q93.

Q94.

Q95.

Consider the following statements:

1. The leader of the Lok Sabha is always Prime Minister in the
history of independent parliaments.

2. The office of ‘whip' is mentioned in the Constitution of India.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 both

(d) None of the above

Which of the following terms means terminating a sitting of
Parliament for an indefinite period?

(a) Adjournment

(b) Prorogation

(c) Dissolution

(d) Adjournment Sine Die

Consider the following statements related to Cloudburst

1. A rainfall rate that is equal to or more than 200 mm per hour
is a cloudburst.

2. Cloudburst is one of the major man-made disasters.

3. Cloudburst occurs mainly in the desert and mountain ranges.

Which of the statements given above is/are correct?

(a) Only 1 and 2

(b) Only 3

(c) Only 1 and 3

(d) Only 2

Consider the following statements

1. Northeastern regions and the windward side of the Western
ghats experience an average of 400 cm of annual rainfall.

2. Desert and Semi-desert Regions receive below 50 cm of
rainfall.

Which of the statements given above is/are correct?

(a) Only 1

(b) Only 2

(c) Both statements are incorrect

(d) Both statements are correct

Consider the following statements related to Savanna’s type of

climate

1. This climate is also called as Sudan type of climate.

2. The regions of the Savanna climate are unaffected by low and
high-pressure systems in a year.

3. Savanna type of climate is induced due to the introduc-tion of
wet summer and dry winter seasons.

4. Savanna climate is a transitional belt between humid
equatorial and dry tropical climates.

‘Which of the statements given above is/are correct?

(a) Only 1 and 4

(b) Only 2 and 2

(©) 1,3,and 4

(d) 2,3and 4

Which of the following statements about the Indian Ocean

Dipole is/are correct?

1. The primary reason for the dipole is a temperature difference.

2. A spell of hot, dry weather in Australia has resulted in a rash
of bushfires, which has been induced by the Indian Ocean
Dipole phenomenon.

3. Indian Ocean Dipole’s negative phase is beneficial for the
Indian monsoon.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) All of the above

Consider the following statements regarding the impact of the

Indian Ocean Dipole on El Nino:

1. An Indian Ocean Dipole phenomenon can influence and
accelerate the rate of El Nino.

2. Oceanic dipoles in the Indian El Nino have a direct effect on
anomalies and variations in sea surface temperature.
‘Which of the statements given above is/are correct?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) None of the above

Q96. Which of the following statements is/are correct about the Indian

Q97.

Q98.

Q99.

Ocean Dipole?

1. A positive Indian Ocean Dipole results in a severe drought.

2. A negative Indian Ocean Dipole causes enhanced monsoon
rainfall.

Select the correct answer using the code given below:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) None of the above

Consider the following statements about the Madden-Julian

Oscillation:

1. It is characterized by a pulse of clouds, rainfall, winds, and
pressure near the equator that moves to the east about once
every 3-4 days.

2. It’sareceding phenomenon and is most prevalent throughout
the Atlantic and Southern Oceans.

3. It causes significant changes in tropical weather on a weekly
to a monthly timeframe.

Which of the statements given above is/are incorrect?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Which of the following statements about the effect of the
Madden-Julian Oscillation on the Indian Monsoon is/are
correct?

1. When the Madden-Julian Oscillation occurs over the Indian
Ocean during the monsoon season, the Indian subcontinent
receives less precipitation.

2. When the Madden-Julian Oscillation witnesses a longer cycle
and stays over the Pacific Ocean, it brings abundant
precipitation over the Indian subcontinent.

Select the correct answer using the code given below:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) None of the above

Which of the following statements about the effect of the

Madden-Julian Oscillation is/are correct?

1. The active phase of Madden Julian Oscillation is responsible
for tropical cyclone precipitation and development.

2. The Madden-Julian Oscillation is a cloud, wind, and rain
pattern that is limited over Pacific ocean areas.

3. The Madden-Julian Oscillation is a seasonal phenomenon.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(c) 1 and 2 only

(d1,2and 3

Q100. Which of the following statements is/are correct?

1.El Nino is a climatic trend that depicts the exceptional
warming of the eastern tropical Pacific Ocean's surface
waters.

2.La Nina is a phenomenon that depicts the abnormally low
temperatures that have been seen in the eastern tropical
Pacific.

3. The La Nina weather pattern happens more frequently than
the El Nino pattern.

4. Both El Nino and La Nina are weather patterns that typically
reach their peaks during the summer months in the Southern
Hemisphere.

Select the correct answer using the code given below;

(a) 1 and 2 only (b) 2 and 3 only

(© 1, 2, and 3 only (d) 1, 2, and 4 only
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89.

920.

91.

92.

93.

94.

95.

fAafafed sy R R

1. W@ds TGOl & AT & g™ st Aa1 gAR ga= i gt &1
2. YRd & Gy # 'fRu' & ug o1 I g1

IR U U puAl & @ i a1/ Tdl 8/8?

(a) Shaet 1

(b) haet 2

(c) 1 3R 2t

(d) 378 & S off

fAfofEa 3 @ forg ue o o ifAfea ora & e I &t S &t
THTT AT 82

(a) &=

(b) FATEE

(c) frEe

(d) &7 (rfAfgaenTet & forg)

el e T Gafda F=fafaa el ) AR &

1. aui &t g2 it 200 At ufa €2 & sRreR a1 3T Sifde g, Iee
TheAT gl

2. ST&d thedT W AHq [ smuerst 7 € ges 2

3. 915 thedAT 4 &0 G N 3R udd sjaenaii 7 gian 8|

e g A

(a) Shaet 1 3R 2 (b) FaeT 3
(c) dhaer 1 3R 3 (d) haer 2
fA=fafed wuEl = AR R

1. IRyt &t 3R uft a1t & gar ardt B # siteas 400 d+Ht
arfes auf gt 81
2. A 3R A &5 # 50 I+t & A anf gt &

el e g
(a) heret 1 (b) et 2
(c) E YA AT & (d) & s ggt €

AT YR &t Saarg & aifd Fmfofad see o R &

1. 9 STaTg i YIS UGR < sterarg Ht gl ST gl

2. GaET Sear] & &9 Uk a¥ # A ofk = qarg yonferat @
AT I8 8l

3. IET UGR <l STerarg Meft TH R gsen aféat & Hiaq &
L&A & hRoT IR gt &1

4, HIFT ATy 3176 AERER 3R Yh IWRSHT Searg &
T Yk TehHUTRINH stee gl

el ooy T
(a) dhaeT 1 3R 4 (b) haer 2 3R 2
() 1,3, 8R4 (d) 2,33R4

fle TR Gga s aR d el A d e ar e agt & / 82

1. f&ya 1 urafies SRoT IgHM @ SR 81

2. Sifgforar § mH, [k HiH & RoT Ffsal F ST o TE 8, Y
fé TgaTR fya ge & uRa 81

3. foe AR fgya &I Kot sgen YR AFYH & forg
TSI g

12 g 7T e o T R el IR R

(a) 1 3R 2 thaat

(b) 2 3R 3 Thaat

(c) haet 1 3R 3

(d) IR & Taft

3 At W g 7ErR fEya & ua & gy | =fafad suat

R fomR &

1. T fEe 9eNrR fEya genr i At Y @@ @t genfad ofk d
&R gohd! &

96.

97.

98.

929.

2. IR g At # AR fgydt 1 9g 6 Tag & aaHE §
oot ok fmarett wr et oy gsar &1

IWR Ry g syl & @ i 91/ Tt 8/87

(a) Faet 1 (b) Saat 2

(€)1 3R 2 g+t (d) =8 @ IS off 7

fle MR fgga d R A el A S e aT e agt 8 / 82

1. Ueh GehRIeh faa AR fgga & aRummawy ik ga@r ugar
|

2. U AR fgg AgMNR fGyda AFga avf § gfg &1 &R
EEGIE]

2 g 71T e o1 T R el IR AT
(a) et 1 (b) et 2
(c) 1 3R 2 gt (d) 378 & 1S oft 7

F39-Sffora aterd & IR A Ffafed syt R R &

1. g8 W @ & UM dIedl, qui, garsl R &
faiwar 8 it 83 3-4 Rt # e Goh AR gd i 3R Tt 81

2. U8 U "eT § SR Sredifess ofR gfaolt agmarR & wed
31fdres g=ferd &1

3. g Swkfeaa A 7 graifge 9 A1iies a9 diAr § Agaygof
URad= @ ShRUT ST &1

IR fw U Yt A @ i 91/ et &/87?
(a) 1 3R 2 haet (b) 2 3R 3 hadt
(c) Faer 1 3R 3 (d)1,23R3

TR A TR HSA-Sfoid &ler oh UHTE & aR # FAefaiea 7 &

I I1/8 YT T8l g/8?

1. 9 AFYA & A9 H 88 AgRITR o HUR A37-Sfora ale gl
g, d@ YR SuHBIgT § &he auf gidl &

2. 9 A37-SIfoR alele Teh el dsh aadT & 3R URIid FgIR &
R BT 8, df Tg MR SUHGIGIT | TR A1 H auf AT 81

2 g 71U e o1 v AR Tl IR gA:
(a) ehae 1 (b) Faer 2
(c) 18R 2 1 (d) 378 9 ig oft =)

F-Sferm e & u9E & aR § FEfafed § @ oF a@1/3 weE

el 8/8?

1. 839 e alel I Afehd TRUT IWTehica e Tehard o 3R
Ao & forg Icarerdt &1

2. ASA-S[ferdA Sl Geh dTae, gaT 3R JTRT o1 Ufdey & St usrid
AR &1 Jeh A 81

3. #EA-S[forgd e Uk HIGH! e g

=2 g 711 e o1 v AR Tl IR g
(a) haret 1 (b) 2 3R 3 Faw
(c) 1 3R 2 dhaa (d)1,23R3

100. fF=fafEa & 9 @ a91/3 e 98t /82

1. 31t F=t Qoh STerarg v & St gff Swesfesiea neiia AemR
th gds! STeT oh STTYRUT U Y 3807 g4 ohl &20fdl §1

2. a1 = gen Oft gear & Y gt Swrefesdta ueria e & s
U Y Y JUH bl SATT &1

3. o7 Y Gt Y o1 | 1 T HeH 1 ufaey Sifee IR gtar
gl

4. U A iR &1 i 4 Hiaw & ufdwy § St ek wR cfgoft
Tierel # et & AEHT 3 SR SO TRA R Ugd S 81

=2 g 71T e o1 v R el IR gAY

(a) 1 3R 2 Thaat

(b) 2 3R 3 Taat

(c) haa1,23R3

(dydaa 1,2 3k 4
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